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6.3 Solving Equations by Combining Terms 
Worksheet 

 
A. Solve. 

ݔ7 (1 െ 3 ൌ ݔ4 ൅ 3 
 
 
 
 

ݕ5 (2 ൅ 9 ൌ ݕ2 െ 3 
 
 
 
 

3) െ4݉ ൅ 2 ൌ 6݉ ൅ 12 
 
 
 
 

4) െ8ݐ െ 5 ൌ െ9ݐ െ 7 
 
 
 
 

ݎ3 (5 െ 2 ൌ െ5ݎ ൅ 14 
 
 
 
 

݌6 (6 െ 7 ൌ െ6݌ െ 7 
 
 
 
 

7) 5 െ ݕ ൌ 3 െ  ݕ2
 
 
 

8) 3 െ ݐ2 ൌ 5 െ  ݐ5
 
 
 
 

ݕ3 (9 െ 2 ൌ ݕ ൅ 4 
 
 
 
 

ݕ (10 ൅ 7 ൌ ݕ3 െ 9 
 
 
 
 

11) 4 െ ݎ ൌ 3 െ  ݎ2
 
 
 
 

ݎ (12 െ 1 ൌ ݎ5 െ 7 
 
 
 
 

ݕ6 (13 െ 2 ൌ ݕ5 ൅ 4 
 
 
 
 

14) െ11 ൅ ݒ6 ൌ െ6ݒ ൅ 11 
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B. Expand first, then solve. 
1) 3ሺݔ െ 1ሻ ൌ 12 
 
 
 
 
 
ݕ9 (2 െ 3 ൌ 3ሺݕ െ 4ሻ 
 
 
 
 
 
3) 6 െ ሺݐ െ 3ሻ ൌ െ3ሺݐ െ 1ሻ 
 
 
 
 
 
4) െሺ4 ൅ ሻ݌2 ൌ 4ሺ2 െ  ሻ݌2
 
 
 
 
 
5) 7ሺݔ ൅ 3ሻ ൌ 5ሺݔ െ 1ሻ 
 
 
 
 
 
6) 6ሺെ2 െ ሻݔ ൌ െ5ሺ2ݔ ൅ 4ሻ 
 
 
 
 
 
7) െ4 െ ሺ2ݕ െ 1ሻ ൌ െሺ3ݕ ൅ 1ሻ 
 
 

8) 5ሺݔ െ 1ሻ ൌ 8ሺ1 െ  ሻݔ
 
 
 
 
 
9) െ2ሺݔ െ 1ሻ ൌ െ2ݔ െ ሺݔ ൅ 4ሻ 
 
 
 
 
 
10) െ3ሺݕ ൅ 1ሻ ൌ െ2ሺݕ െ 1ሻ 
 
 
 
 
 
11) 4ሺݔ െ 2ሻ ൅ 5 ൌ 3 ൅ 2ሺݔ െ 3ሻ 
 
 
 
 
 
12) െ2ሺ݉ ൅ 4ሻ ൅ 12 ൌ 3ሺ5 െ ݉ሻ െ 8 
 
 
 
 
 
13) 3ሺ݊ െ 2ሻ ൅ 12 ൌ 6݊ െ 3ሺ4 െ ݊ሻ 
 
 
 
 
 
14) 1 ൅ 5ሺݔ െ 1ሻ ൌ 4ሺݔ െ 3ሻ ൅ 6 
 
 


